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Table given below shows the ratio of number of candidates, who
Day 5
attempted test in Hindi language, to those, who attempted it in
4
oy other language.
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1)Find the ratio of total number of candidates, who attempted test on day 2, to those, who attempted test on day 4.

A.33: 41 B.37: 41 C.33: 37 D.37: 49 E.33: 49



2) On day 1, ratio of total male candidates to total female candidates is 8: 7. Ratio of male candidates to female
candidates, who attempted test in English language, is 3: 2 and ratio of male candidates to female candidates, who
attempted test in Hindi language, is 5: 4, then find the ratio of male candidates to female candidates, who attempted

test in other language.
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E.7: 8 Day 5 125 100 75




3) Which of the following order is correct about the decreasing number of candidates, who attempted test in other

language on the given days?
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4) Total number of candidates, who attempted test in Hindi language on day 2 and day 3 together, is what per cent of

those, who attempted test in Hindi language on all the 5 days together?
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D.30% Day 1 150 90 60
Day 2 80 60 45
E.20% Day 3 120 60 80
Day 4 100 90 93
Day 5 125 100 75




5) Ratio of number of male candidates to female candidates, who attempted test in English language on day 2 is 5: 3 and on day 5
is 16: 9, then find the difference between number of male candidates and that of female candidates, who attempted test in English
language on day 2 and day 5 together.
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C.60 Day 1 150 90 60
Day 2 80 60 45
D.40 Day 3 120 60 80
Day 4 100 90 55
E.50 Day 5 125 100 75
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Directions (6-10): Read the following information carefully and answer the given questions based on it.

The table given below shows the number of applicants who attend the interview for executive MBA program in five different panels

of IIM - A.

Name of | Total number of Number of
Panel applicants applicants selected
A (P + R + 30) :
B (6Q/5 + R) -
C 3R Q+R
D - (P + 8)
E (2Q + P + R/5) (P +Q - 10)

Note:

a) Out of total applicants in panel D, A and B are D (20%), A (40%) and B (60%) are rejected respectively.
b) Sum of LCM and HCF of P and Q is 205, while LCM is 40 times of HCF.

c)P+ R =90

6) In panel C, rejected applicants are what percent of total number of applicants ?

A.75% B.40% C.50% D.80% E.None of these



7) For panel B, there are two interviewers in this panel - L and Z. L takes an interview in a group of three students (consider as one

interview), while Z in group of five (consider as one interview).

Which of the following is/are possible sum of humber of interviews for rejected candidates?
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Panel Total Applicants | Applicants
I). 14 Applicants selected | rejected
A 120 72 48
II). 16 B 80 32 48
C 150 75 75
III). 12 D 60 48 12
E 100 55 45
Total 510 282 228
A.l only
B.II only

C.II and III only

D.I and III only

ET IT and 11T



8) Which of the following statement/s is/are true.

I). Number of applicants rejected in A and B are the same.

II). Number of applicants selected from panel C is highest among all given panels.

III). Total applicants in panel D is half as that in panel A
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A.Only II is True

B.Only I and II are True
C.Only IIT is True

D.Only III and II are True

E.All I, II, and III are True

Panel Total Applicants | Applicants
Applicants selected rejected
A 120 72 48
B 80 32 48
C 150 75 75
D 60 48 12
E 100 55 45
Total 510 282 228




9) M = total number of applicants selected in Panel B and E together.
N = total number of applicants rejected in panel A and D together.
Find the difference between values of M and N.

9) M = T® I1Y U9d B 3R E # TafAa 3ded! &1 oo GBI

N = T 1Y U9 A 3R D ¥ 3rdipd 3mdgs! &t oo w=|

M 3R N & A1 & §i9 3iaR J1a S|
Panel Total Applicants | Applicants
Applicants selected | rejected
A 120 72 48
A.27 B 80 32 48
C 150 75 75
B.37 D 60 48 1
E 100 55 45
47
¢ Total 510 282 228
D.17

E.None of these



10) Find the average number of applicants in all the panels together.

10) THATY I O99a & 3macsl o1 3id T=T J1d HIfeT|

A.112

B.102

C.108

D.104

E.None of these

Panel Total Applicants | Applicants
Applicants selected | rejected
A 120 72 48
B 80 32 48
C 150 75 75
D 60 48 12
E 100 55 45
Total 510 282 228
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